JINMMOTH

4x4 SUSPENSION PARTS

FIXED LOWER CONTROL ARMS
FOR 1.5-3” LIFTS

(2018-2022 WRANGLER JL)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

(1) LH Control Arm w/ Zerk Fitting 13mm Socket/Wrench

(1) RH Control Arm w/ Zerk Fitting 15mm Socket/Wrench

(2) M8x1.25 x 20mm Flange Bolt 21mm Socket/Wrench

(2) M8x1.25 Flange Nuts 24mm Socket/Wrench
Ratchet/Breaker Bar
Jack & Jack Stands
Pry Bar

SKU # J164362-JL



JIAMMOTH

STEP1

Lift and support the vehicle using a jack and jack stands. Locate and remove (1) 15mm nut from
the brake line bracket secured to the lower control arm. Allow brake line bracket to hang away
from the control arm.

STEP 2

Locate and remove the (2) 21mm bolts from the lower control arm. Hold the nut in place with a
24mm wrench while loosening the bolt.



JMAMMOTH

STEP 3

Install the new lower control arm into the vehicle reusing the original hardware. Do not fully
tighten at this time.

Note: Aligning the lower control arm to the axle/frame may require using a floor jack/pry bar.

STEP 4

Secure the brake line bracket to the vehicle using (1) M8x1.25 x 20mm flange bolt and (1) M8x1.25
flange nut. Tighten until secure.



JMAMMOTH

STEP 5

Lower the vehicle to the ground, tighten each control arm bolt to the OEM torque specification of
103 ft. lbs. + 145 degrees.

STEP 6

Repeat steps 1-6 to the opposite side of the vehicle.

Installation is now complete.



	J164362-JL - Mammoth - Fixed Lower Control Arms for 1.5-3in Lift Kit (18+ JL)-01
	J164362-JL - Mammoth - Fixed Lower Control Arms for 1.5-3in Lift Kit (18+ JL)-02
	J164362-JL - Mammoth - Fixed Lower Control Arms for 1.5-3in Lift Kit (18+ JL)-03
	J164362-JL - Mammoth - Fixed Lower Control Arms for 1.5-3in Lift Kit (18+ JL)-04

